Reading questions for Chapter 3 in the 2003 UN Human Development Report
http://hdr.undp.org/reports/global/2003/
These questions are your study guide for Chapter 3.  Some will be on the exam.  I recommend that you prepare by writing out answers for each question.
List the things that must be in place for a country to be able to have sustained economic growth. (67)

Summarize the argument that is made for the importance of economic growth.

Even though some countries have those things referred to in #1 in place, they experience “ruthless growth”, which is economic growth that does not reach poor people.  Identify two reasons for this.
What did the 1996 Human Development Report demonstrate?
Identify the connection between infant mortality rates and economic growth.  

Explain what is meant by vicious and virtuous circles (related to human development and economic growth). (69)

Fill in the blanks, from an actual sentence in the reading: When ______  ______ have political power protected by civil and political  rights, they can be more effective in pressing for policies that create _________ and __________  _______. 
Of the 128 countries with at least 1 million people and sufficient data, ___ saw per capita incomes grow in 1980-98, but _____ saw per capita incomes shrink.

Which type of exports has been most strongly associated with economic growth?  Which type is not so strongly associated with growth?
Excluding transition and fuel exporting countries, which grew faster, middle income countries or low income countries?  Do you think this should be cause for concern?  Why?
Summarize the successes of Bangladesh, and also some reasons why the successes may not be universally replicable.  In what two goals has Bangladesh fallen short? (71)  What is at least one advantage of having a large population?
The disadvantages of a country having a small population are explained in various parts of the chapter.  Make a list of these disadvantages as you go through the reading.

Summarize the effects of geography on markets, trade, and growth.  Which of these factors does the United States have going for it?  Against it?

How can countries with small populations gain the needed scale for markets? (list 2 ways)
As _______ rise, so do national savings rates. (75)

Explain why falling fertility rates are important in the context of the previous question.

It is stated the poor countries in stagnation or decline can be pushed above the basic thresholds and establish self-sustaining growth.  What is meant by “above the basic thresholds” and what is needed for them to be able to do this (78)
The box by Nobel Laureate Joseph Stiglitz (80) is critical of the Washington Consensus (a school of thought of U.S. origin that holds that poor countries, if they wish to have sustained economic growth, must open their financial markets to short term capital flows, rapidly remove import tariff protections to their domestic producers, and to reduce social investments for the poor).  Summarize his criticism, using his examples of Asian countries that didn’t adhere to the Washington consensus and became the world’s greatest success stories.   Summarize the view of Stiglitz about globalization and the world’s poor countries.
It is pointed out that even in the case of countries that have used manufacturing as an engine for their growth, many or most of the poor still work outside manufacturing.  List what should be done for these people, if the long term development of the economy is to be achieved.

Summarize the arguments made in this chapter for why donor assistance (loans and/or gifts) are necessary for the more disadvantaged countries to improve the lives of their citizens.  Review also your answer to the earlier question about Bangladesh.  Remembering the kinds of public human capital investments pushed by the UN publication (education, nutrition, and health), do you think that international assistance from wealthier countries is necessary for the poorest people in the poorest countries to significantly improve their lives?  Explain your answer.
